
izfrn”kZ iz”u&i=izfrn”kZ iz”u&i=izfrn”kZ iz”u&i=izfrn”kZ iz”u&i=    
tho foKtho foKtho foKtho foKku ¼lS)kfUrd½ku ¼lS)kfUrd½ku ¼lS)kfUrd½ku ¼lS)kfUrd½    

BIOLOGY (THEORY) 
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Time : 3 Hours           Max. Marks : 70 
 

funsZ”k % 1- bl iz”ui= esa dqy 30 iz”u gSaA lHkh iz”u vfuok;Z gSaA 
2- iz”ui= esa pkj [k.M v] c] l ,oa n gSaA [k.M *v* esa 8 iz”u izR;sd 1 vad dk] [k.M *c* esa 10 iz”u 
izR;sd 2 vad dk gSA [k.M *l* esa 9 iz”u izR;sd 3 vad dk tcfd [k.M *n* esa 3 iz”u izR;sd 5 vad dk 
gSA 
3- vko”;drkuqlkj ukekafdr fp= cukb,A 
4- izFke iz”u ls izkjEHk dhft;s vkSj vUr rd djrs tkb,A tks iz”u u vkrk gks ml ij le; u’V u 
dhft,A 
5- mŸkjiqfLrdk esa iz”u ,oa [k.M dk Øekad lgh fyf[k;sA 
 
Note : 1. There are in all 30 Question in this question paper. All questions are compulsory. 

2. the question paper consists of four sections A, B, C And D. Section ‘A’ contain 8 questions of 

1 mark each, Section ‘B’ is of 10 question of 2 marks each, Section ‘C’ has 9 questions of 3 

marks each, wheareas Section ‘D’ is of 3 question of 5 marks each. 

3. Draw neat and labelled diagrams wherever necessary. 

4. Start from the first question and proceed to the last. Do not waste time over a question, if you 

can not solve it. 

5. Write correct serial no. of question and the part of the question. 
 

 

[k.M *v* [k.M *v* [k.M *v* [k.M *v* (Section ‘A’) 
 

1- ck;ksikbjslh fdls dgrs gSa \           1 
 What is Biopiracy ? 

2- o.kkZU/krk dk thu fdl xq.klw= ij fLFkr gksrk gS \        1 
 Where the gene of colourblindness is located ? 

3- xUuk rFkk dsys esa o/khZ iztuu gsrq ikni dk dkSu lk Hkkx iz;ksx esa yk;k tkrk gS \   1 
 Which part of the plant is used for cultivation in sugarcane and banana ? 

4- nks mikftZr jksxksa ds uke fyf[k, \          1 
 Name two acquired diseases ? 

5- ELISA dk iwjk uke fyf[k;s \           1 
 Write full name of ELISA ? 

6- fdl dod ls isfuflfyu izkIr dh tkrh gS \         1 
 From which fungus the Penicillin has obtained ? 

7- esVkLVsfll D;k gS \            1 
 What is Metastasis ? 

8- Likb:fyuk dk vkfFkZd egRo D;k gS \         1 
 What is the economic importance of Spirulina ? 
 
 

 

 
 

[k.M *c* [k.M *c* [k.M *c* [k.M *c* (Section ‘B’) 
 

9- ,slh lykg D;ksa nh tkrh gS fd batsD”ku dh lqb;ksa dk nks O;fDr;ksa ds chp lk>snkjh ds :i esa bLrseky 
u fd;k tk; \             2 
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 Why sharing of injection needles between two individuals is not recommened ?                         

10- Mh0,u0,0 fQaxj fizafVax ds dksbZ pkj mi;ksx fyf[k;s \       2
 Write any four uses of DNA Finger printing? 

11- “kqØk.kq dk LoPN ukekafdr fp= cukb;s \         2
 Draw a well labelled diagram of sperm ? 

12- okgu iznw’k.k dks de djus ds pkj mik; fyf[k;s \        2
 Write four majors to reduce vehicle pollution ? 

13- thok”e D;k gS \ fdlh thok”e dh vk;q fdu fof/k;ksa ls Kkr dh tk ldrh gS \   1+1=2

 What are fossils ? What are the methods to calculate age of fossils ? 

14- ,e0vkj0,u0,0 vkSj Vh0vkj0,u0,0 esa vUrj Li’V dhft, \      2
 Differentiate between mRNA and tRNA ? 

15- ,ythZ rFkk dklhZukstUl dks le>kb;s \         2
 Explain allergy and carcinogens ? 

16- Bt dikl ij laf{kIr fVIi.kh fyf[k;s \         2
 Write short note on Bt cotton ? 

17- ?kjsyw okfgr ey mipkj esa lw{e thoksa dh D;k Hkwfedk gS \      2
 What is the role of micro organism in seavage treatment ? 

18- “kSoky izLQqVu D;k gS \ bldk izHkko Hkh crkb;sA        2 What is 

algal bloom ? Also define its effect . 
 

 

[k.M *c* [k.M *c* [k.M *c* [k.M *c* (Section ‘C’) 
 

19- eVj ds nks yEcs ikS/kksa ds chp ladj.k djus ij iSnk gksus okyh dqN larkus ckSuh FkhA ,slk dSls lEHko gks 
ldrk gSA iqUusV oxZ dh lgk;rk ls n”kkZ;sa \         3 
In a cross between two tall pea plants, some of the offsprings produced were dwarf.  How this is 

possible ? Show with the help of punnett square. 

20- frryh] pexknM+ ,oa i{kh ds ia[k mM+us dk dk;Z djrs gSa fdUrq fQj Hkh ;s leo`fŸk vax D;ksa dgykrs gSa\ 3 
Wings of butterfly, Bat and Birds act as flying, but however these are called analogous organs ? 

21- gekjs lekt esa yM+fd;ksa dks tUe nsus esa efgykvksa dks ftEesnkj ekuk tkrk gSA D;k rqe bl /kkj.kk dks 
xyr fl) dj ldrs gks \            3 
In our society woman are blame to give birth to daughters. Can you explain why this is not 

correct ? 

22- fuEu dks le>kb;s &           1+1+1=3

 (i)        ekbdksjkbtk 
 (ii)      iSfy.Mªkse 
 (iii)     nk= dksf”kdk vjDrrk 
 Explain following- 

(i) Mycorrhiza 

(ii) Palindrome 

(iii) Sickle cell anaemia 

23- ifjiDo Hkwz.kiks’k dk LoPN ukekafdr fp= cukb;s \        3
 Draw a well labelled diagram of endosperm ? 

24- (i) ikjthuh xk; jksth ls mRiUu nw/k dh D;k fo”ks’krk Fkh \      2
 What is the special feature of milk of transgenic cow Roji ? 

 (ii) ehFksukstsu D;k gS \            1
 What is Methanogens ? 

25- lekt esa O;kIr dqizFkk,a ,oa /kekZU/krk fdl izdkj tula[;k òf) esa lgk;d gSa \   3
 How misconceptions and malcustoms present in society are helpful in population growth ? 

 

https://byjus.com/?utm_source=pdf-click
https://byjus.com/?utm_source=pdf+click


26- _rqlzkod o en pØ eas D;k vUrj gS \         3
 What is the difference between Menstrual cycle and Estrous cycle ? 

vFkok (OR) 

 xq.klw= vkjs[k o dSfj;ksxzkQ dks ifjHkkf’kr dhft, A 
 Explain, what is Idiogram and Karyograph. 

27- rkykc ifjra= ds izeq[k tSoh; dkjdksa ds uke fyf[k;s \       3
 Write the name of main biotic factors of pond ecosystem ? 
 
 

[k.M *n* [k.M *n* [k.M *n* [k.M *n* (Section ‘D’) 
 

28- (i) L=h tuu ra= dk LoPN ukekafdr fp= cukb;s \       3
 Draw a well labelled diagram of female reproduvctive organ ? 

 (ii) dkiZl Y;wfV;e o dksyLVe dks Li’V dhft;s \         1+1=2 

 Explain corpus luteum and colostrums ? 

vFkok (OR) 

 xHkZ fujks/kd mik; D;k gksrs gSa \ fofHkUu izdkj ds xHkZ fujks/kd mik;ksa dk o.kZu dhft,A 
 What are contraception ? Explain different method of contraceptions. 

29- fu,UMjFky ,oa ØkseSXuu ekuo dh rqyuk dhft;s] buesa ls dkSu lk vkt ds ekuo ds vf/kd lehi gS] 
vkSj D;ksa \            3+1+1=5 
Compare Neanderthal and Cromagnen man. Out of both who is more nearest to present man and 

why ? 

vFkok (OR) 

 v)Zlaj{kh izfrfyfidj.k ls vki D;k le>rs gSa \ eslYlu ,oa LVky us iz;ksx }kjk dSls fl) fd;k \ 
 What is semi-conservative replication ? How did Meselson and Stal prove that by experiment ? 

30- vUrj crkb;s&                    1+1+1+1+1=5 

(i) twLiksj o ;qXeut     
(ii) izdUn o ?kudUn           
(iii) iw.kZ ruk ijthoh o iw.kZ ewy ijthoh    
(iv) bUVjQsjkWUl o ,UVhckWMht    
(v) Hkzw.kdks’k o Hkwz.kiks’k    

      Difference between-                         
(i)Zoospore and Zygote 

(ii) Rhizome and Corm  
     (iii)Total stem parasite and Total root parasite 

   (iv) Interferons and Antibodies 

      (v) Embro sac and Endosperm         

  vFkok (OR) 

    iks’kd pØ.k D;k gksrk gS \ dkcZu ds iks’k.k pØ.k dk o.kZu dhft,A 
    What is nutrient cycling ? Discuss the Carbon cycle in nature.                 5 
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